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FEFHETETAAAQZRX
FRERERAOGIEAZEHZED) {I_'-I\*D\?EESH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 359 398 757
EARI1TH 1,041 1,167 1,274 2,441
EARI2TH 1,200 1,041 1,404 2,445
A R ET 2,289 2,346 2,569 4,915
BEBRT1TH 560 563 606 1,169
B EET2T H 410 419 453 872
B ERI3TH 313 357 327 684
B ERTATH 533 483 534 1,017
B EBRTSTH 827 895 900 1,795
I ER6TH 368 395 420 815
HiF = HT 549 590 643 1,233
45 KHT 471 535 566 1,101
HHT 1,019 1,116 1,237 2,353
BEHT 53 54 58 112
A K BT 629 723 740 1,463
7 HT 431 439 457 896
RICET 462 495 528 1,023
FORHET 204 196 231 427
RFHT 212 212 243 455
KHET 368 344 385 729
KET1TH 241 247 290 537
XKET3TH 291 346 333 679
XETATH 882 823 1,014 1,837
fit] LLI BT 2,426 2,787 2,899 5,686
JE LT 972 1,101 1,212 2313
EHERT2TH 302 440 433 873
EHERISTH 431 532 542 1,074
EHERT4TH 391 459 491 950
EHERSTH 340 397 467 864
EAEHET6TH 214 287 271 558
EAERET7TH 167 252 257 509
=Y:i 330 332 384 716
8 [F T 1,547 1,404 1,653 3,057
=i ET 512 549 628 1,177
2l 3t BT 482 587 565 1,152
N =15 99 112 120 232
+HEFRT A 641 651 717 1,368
L EFHTER 854 757 858 1,615
L HAET 1,983 2,186 2,255 4441
LFH¥ABT1TH 72 121 118 239
LH¥\ET2TH 161 159 178 337




HEZ HH 5 £ i
LFEI3TH 151 146 176 322
L¥AET4 T B 168 183 209 392
LHABTS T B 215 269 293 562
I == HT 205 213 238 451
JOSFET1TH 564 536 549 1,085
JNsFET2T H 541 519 566 1,085
JO=fET3TH 413 431 412 843
M=rET4T H 1,106 1,112 1,128 2,240
I S5k T 583 603 656 1,259
I=F5di) 228 213 259 472
At B BT 29 37 38 75
E[d:) 408 357 343 700
fHZaE T 819 946 992 1,938
FHRHET 79 84 95 179
1 2 FF T 325 371 397 768
BEFE1TH 93 120 129 249
BEFE2TH 282 326 334 660
T EHT 131 142 139 281
/N BB T 3,101 3,132 3,312 6,444
1R HT 265 293 309 602
YEZF HT 763 742 805 1,547
EXBI1TH 281 260 286 546
=/ LLIHT 218 161 127 288
Hh ek HT 25 25 5 30
T A EHET 11 16 12 28
THHEE1TH 736 681 729 1410
THHEE2TH 527 565 554 1,119
THHEESTH 824 844 965 1,809
TEHE1TH 183 184 175 359
TEHRI2TH 802 747 865 1,612
TEHRISTH 162 166 183 349
TEHRI4ATH 94 102 113 215
TEHRISTH 219 234 245 479
T HAET 580 613 647 1,260
TET1TH 360 350 375 725
TET2TH 457 430 485 915
TH¥BISTH 203 201 228 429
THABTATH 153 152 184 336
TH¥BISTH 151 172 188 360
HTAEHET 23 21 8 29
T 189 199 191 390
#8)11 BT 45 46 53 99
KT HT 302 322 347 669
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HEZ HH 5 £ i

7B KHT 1,681 1,682 1,853 3,535
FSIED 268 318 317 635
XLAT1TH 849 766 917 1,683
X#ILET2TH 318 345 370 715
X#ILET3TH 151 157 167 324
1 [ BT 47 64 77 141
hHET1TH 370 394 411 805
hHET2TH 459 480 522 1,002
hHBEI3TH 450 521 520 1,041
aiEld:) 251 241 285 526
th 2 JEHT 219 209 232 441
ch T 127 126 160 286
TR AHT 772 879 884 1,763
At FAET 892 887 1,031 1,918
75 K ERET 783 968 1,002 1,970
75 2 [N HET 1,660 1,823 1,962 3,785
JAHT 796 774 862 1,636
$FHET1TH 521 460 517 977
$FHET2T H 397 393 443 836
¥FHETST B 196 201 224 425
T 164 212 216 428
HET1 T B 388 484 513 997
HET2 T B 348 363 402 765
HET3 T B 356 397 441 838
HET4 T B 124 121 146 267
AN ) 981 1,064 1,120 2,184
J\ EHHT 159 199 199 398
+ A ERT 248 283 319 602
T A HT 1,838 1,881 2,040 3,921
THB1TH 23 20 20 40
T4HB2TH 1,467 1,364 1,362 2,726
T4HBI3TH 186 167 165 332
T4RBI4TH 375 313 373 686
T4RB5TH 940 665 944 1,609
T4HBI6TH 607 588 650 1,238
THRI7TH 347 374 409 783
T4HBISTH 379 406 418 824
THRBOTH 407 464 514 978
+4RB13TH 311 352 390 742
AR NBHT 1,952 1,706 1,979 3,685
HARRHET 1,359 1,237 1,223 2,460
HARRK/ERET 290 370 383 753
F AR JEHT 168 175 180 355
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HEZ HH 5 = 5
- WNEL] 136 122 136 258
FH AR hHT 198 221 255 476
FHARAKHET 442 468 501 969
& ARl 324 346 382 728
HARE)IIHT 294 275 302 577
=N ] 112 119 131 250
FH AR JTHT 106 99 114 213
EARERHE 662 571 667 1,238
B K BRHET 386 392 404 796
Edsa] 890 897 1,023 1,920
BEFET1TH 773 739 761 1,500
BEFET2 T H 596 592 684 1,276
BEFEISTH 351 420 425 845
AFTET1TH 421 377 423 800
AIFFRT2T B 599 606 672 1,278
AIFTET3T B 608 696 754 1,450
A HT 185 204 195 399
B LH 232 302 324 626
NEL] 798 781 845 1,626
ERL 755 928 926 1,854
= HHT 1,728 1,919 1,997 3,916
HEXHRET1TH 595 642 682 1,324
HLIRET2TH 521 589 657 1,246
HLAREISTH 298 379 370 749
P fx T 311 360 389 749
mERI1TH 1,165 1,132 1,278 2,410
mERI2TH 831 949 1,051 2,000
FA T 1,347 1,389 1573 2,962
= RITET 533 505 550 1,055
= AHT 346 277 336 613
AR#4HT 7 5 4 9
=) 498 562 521 1,083
SHET1TH 722 637 801 1,438
S HET2TH 405 444 468 912
aHEI3TH 844 728 890 1,618
S HET4TH 751 631 826 1,457
E& T 1 1 0 1
J\BRET1TH 204 260 260 520
J\BRET2T B 216 225 232 457
J\BRET3T H 243 291 303 594
1T HT 297 431 412 843
FHeEIBRT1 T H 168 199 214 413
FHREIBRT2TH 301 434 463 897

4588



HEZ HH 5 £ 5
FIEIET3 T B 108 177 171 348
EOER1TH 50 77 70 147
FEOER2TH 0 0 0 0
FENOERITH 18 16 2 18

HwEEt 88,591 91,831 99,608 | 191,439

5.5



